D)sx -1 @ 5x+1

@ 7x-1 ® Tx+7

® Tx+1

6x2 +x—12 = (3x - 4) (2x + 3)
o (3x—4)+ (2x+3) =521




@ x+6
® x-3

@x+2

@ x+3

L= L= ]
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F2 2 +4x+4=(x+2)20lB2,
o] o7t x + 2 1 HAF T Hol7t 2ot
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39%x1=39

‘ 202 — 192
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x+y= V3, x-y=15

@ V5+ V3 @ 5+ V10 ® Vi0+ V3
@VE+3v8  © VIB+4v3

B

=y +3(x+y) = (x+y)(x-y) +3(x+y)
= (x+y)(x—y+3)
= V3(V5+3)
= V15+ 33
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x=3+2V2, y=3-2vV2 & uf, x2 —y? 2] & F5pH?

O 24 @ -24 ® 0
@ -24+2 @24\/5

B

x2—y2
=(x+y)(x-y)
=(34+2V2+3-2V2)(3+2V2-3+2v2)
=6x4V2 =242
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+7x+102

@ 3x+2
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2x+5
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+7

x? +10=(x+5)(x+

+ Tx
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- (x+5

x+ +(x+2)——)2( +2)
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S % 927ax? — 12ay? = HIEA A5E5] g A
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@ (3ax - 3y)* @ 32(3ax - day)?

® 3a(3%ax — 4ay)? @3a(3x + 2y)(3x = 2y)

® 3(9ax? — 4ay?)

27ax? — 12ay® = 3a(9x — 4y?)
= 3a(3x + 2y)(3x — 2y)




(a+b)(a+b-3)+2E UT=olotH (a+b-m)(a+b—-n) A,
m—+n ] gF27?

@ 2 @3 ® 6 @ 11 ® 16

B

a+b=r12}5H4A,
t(t-3)+2=1>-3t+2
— (1-1)(-2)
=(a+b-1)(a+b-2)
Wb m 40 =142 = 3 O|k.




9. (x+2)%-(2x-3)*2 7rH3s] 5t —(ax + b)(x + ¢) ©lth. o] df,
a+b+col e oY (B, ae FF)

@ -5 @ -1 @—3 @ -10 ® -12

B

x+2=A4, 2x-3=BZ g5}
(x+2)% — (2x - 3)?

:A2_B2

— (A+B)(A-B)
:(x+2—|—2x—3)(x+2—2x+3)
=Bx—-1)(-x+5)
=—-Bx-1)(x-5)
Latbte=3+(1)+(5=-3




10, x(x+1)(x+2)(x+3)+1 = 1423l sh= 2Adolet. () gtoll S0
Alo] 4] 92 A0

x(x+1D)x+2)(x+3)+1
=x(@O)x (x+1)(@)+1
=(x*+3x)(®) +1

(@) =Ag}sHH

A2 42A4+1=(A+1)2=(®)?

@ x+3 @ x+2 ® x24+3x+2
@x2+3 ® x2+3x+1

@ x2 + 3x




11. x> -9+ xy-3y & AFENSHH?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x=3)(x=3-y) @) (x-3)(x+3+)
® (x+3)(x=3+y)

‘ (x+3)(x=3)+y(x-3) =(x-3)(x+3+y)




12, %2 —)? +4yz - 422 & IFE3lisk ey
(x+ay+bz)(x—y+cz) 7FHAJT old a + b + ¢ &] FL-2?

©-1 @ ® 2 @ 3 ® 4

B

X2 —y? +dyz - 472 = x2 — (9% — dyz + 47?)
=x% = (y - 22)?
= (x+y—-2z)(x -y +22)

et a=1,b=-2,¢c=29B2 g+ b+ c=10°]|ch




13. a=1.75 b=0.25 <L W, a®> - 6ab + 9b* ] S Fo}HA?

On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b* = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1
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O x+3 @ x+2

@2x

® 2x+3

3)2+6(x—3)+82 xo A7F1¢ F

dxpale] oz Qi

® 3x+2

=x-3+4)(x-3+2)
=(x+1)(x-1)
S+ +(x-1)=2x




15. (3x+1)2-4(2x-3)? = —(Tx+a)(x-b) 4 ™, 2a+b 2] k= oFH?

-1 @-3 ®o0 @ 2 ® -2

B ~

3x+1=X, 2x—-3=YZE *|&o}H
X% -4Y% = (X +2Y)(X - 2Y)
=Bx+1+4x-6)(3x+1—-4x+6)
=—(7Tx=5)(x=7)

La=-5b="7
n2a+b=2x(-5)+7=-3




16. (2x-1)2-9 & 1425l st a(x + b)(x + ¢) = YEFE T, be - a
o] 2 Ftolet,

> E:

> He: be—a= -6

B

(2x—-1)2-9 = (2x—1+3)(2x—1-3)
= (2x+2)(2x—4)
=4(x+1)(x-2)
=a(x+b)(x+c)

a=4,b=1,¢c=-2

Sobe—-a=-2-4=-6




17, 2= 20— 142 & AR afota?

@(x—y—l-l)(x—y—l) @ (x+y+1)(x+y_1>
@ (x-—y+1)(x+y-1) @ (x—y-1D(x+y-1)

® (x+y+1)(x-—y-1)




18. x*4+4x2+4E5 JFEHSHA (ax® +b)2 0] At T, a+ 5 2] G
otz (H a > 0)

A +4=(x?)2+4(x?) +4= (x> +2)?
watA, a+b=1+2=3




19. x®+5xy+2x—5y -3 = ASE3|51H?

@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @(x—l)(x+5y~l—3)
® (x+1)(x=5y-3)

x? 4+ 5xy+2x—5y—3
= x% + (5y + 2)x — (5y + 3)
=(x+5y+3)(x-1)




20. a=V2-1< ", a®+4a+4 9] 2 F3toizt
=1

| 2
> Hehl 3422

B

a>+4a+4=(a+2)?
=(V2-1+2)?
=(V2+1)?




